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7  Summary (HENE)

(1) Official in charge of disbursement of the procuring entity : TAKEUCHI
Junichi , Director General of Shikoku Regional Forest Office (VU [EZrE B 5
=)

(2) Classification of the services to be procured : 42 (BUFiHZEMNL B E S 42

RO OOV — A, V=T Y T e = B RAZOMOE Y — B R)

(3) Subject matter of the contract : Landslide investigation in Kashio,
Higashiiya, Miyoshi city, Tokushima prefecture (FEEDOWNE : fHEE =4 K
A D 3~ ) B )

(4) Time limit for the submission of application forms and relevant documents
for the qualification : 5:00 P.M., 10 June 2024 (HZFHEDOHEHBIEZ AT))
(5) Time limit for the submission of tenders by electronic bidding system (F&
A) : 10:00 A M., 25 June 2024, in case of submission by document (HEA#L)

10:00 A. M., 25 June 2024, in case of submission by mail (Ef# AFL) : 5:00
P.M., 24 June 2024

(6) Contact point for tender documentation : Accounting department Shikoku
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Regional Forest Office, 1—3—30 Marunouchi Kochi city Kochi prefecture 780
— 8528 Japan.
TEL 088—821—2011 (AFLIZBEF 2 CEDOHRESE D OFLHE)
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